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(DF QO FEES BEERE— (3)96 64

75.1. 6 X4 X3=72(dm")
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.1.D 2.D 3.B 4 A 5B

I

45_9_ .4 5S1_3_ 1
Mdlos=5=15 5175713

1123
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3.5+1.5+0. 7= 5.7X4= 6—4—0. 7=
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2.7—=3=
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0.72-—6=
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Im”=( ) dm?
1dm*=( ) cm®
Im®*=( )dm’
1dm®= )em?
0.03m’= )dm’
2. 3dm*= )em’®

500dm?® = ( )m’
3em’ = )dm?

( Yem® =4, 13dm’®

( )Ydm?=54cm?

0. 67m®*=( )dm?®
3. 6dm?®*=( )em?®
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5. 04m*=( )dm’
20dm’® = )em’
0.5m’= )dm’®
20. 03dm® = ) em’®

50dm? = ( )m’
3000em?® = )dm?
( Yem® =4, 13dm’

( )dm?®=54000cm®
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5.4m*=( )dm?
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( )dm?®=4. 13m°
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200cm® = ) dm’ 0. 09dm® = ( ) em?
0. 2dm*= ) cm” 300dm® = ( )m’
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3000mL=( )L bm’=( L 45L47.5L=C L
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400cm*=C(  HmL 2.15L.=C  HmL  1L—400mL=( OmL
0.07L=C  )dm’ 13L=C dm’ 3.2L—2. 7dm*=( )L
650mL—=( )L 0.6dm’=C OmL  1300mL+1700mL=( )L
853cm’® = ( )mL 400cm® = )L 6. 05L—4L=( )L
2.04m’=( )L 0.07L=C  dem®  6.05L—40mL=C L
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3.8L=C  Hdm’ 7.75m=( L 7.8L—5L=( )L
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0. 08 X80=
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8X5X20= 170—65=

3X4X0. 1= 64—32=

4 X5X1. 2= 750—320=

2X11X30= 900—270=

EX10X7= 165—55=

5X6X0. 4= 707—150=

6. 5X2X10= 327—125=

1.4 X5X3= 49—46=

40 X6 X20= 158—54=

2.3X2X5= 160—25=

10X12X20= 17—36=
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SX4X12= 40 X50-—1000= 30X0. 8—6=
160, 3+—2= 14 X1000-=—700= SXTAXE8=
7X0, 25 X8= 40X 25X 3= 2.5 X13X4=
63 = 63 +=6+6= 4X1.5+6=
51X (5—3)= 0.5X4X11= 0. 2X8X5=
2.5X(8—6)= 260X 30-—1000= 1. 25 X7 X 8=
4, 02X4X5= (3+5+7) X4= 3. 2X5+4=
4 X8X1. 25= 2.4+—3+2= 6 X6 X5=
23X 3= EXEX(8—T)= 2.5 X6 X4=
3X2.5X2= 4, 5-—-3+3= 25 X1. 7X4=
P NK2= 60 X70-+—1000= 15X0. 2+—3=
5¥= 5.4--2-+3= 5X5X0., 4=
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7.5X3+7.5= 6X6X(5—3)= 18dm?* = ( )m’
72+12X6= 0.4X4X4= 0. 02dm* = ( ) em?
8 X (70+30)= 0. 3X0.4X0. 2= 10. 08dm®* = )cm?
45-=+3+15= 0. 2X0. 2X400= 1. 03m*=( )dm?®=( )L
2.4—4—0.2= (12+28) X4= 20. 5LL=( )mlL=( )dm’
64—+—4—10= (2.5X2) X4= 5.4L=( ) cm’®
12. 8—4—1.2= (6.5+2.5) X6= 2000m* = )L
(90—18)+12= 1500—-5—100= 3030mL=( )L
7.9X11—7.9= 8. 0X4—4, 5X4= 20L=( )dm® = )mlL
4X8X(3—2.5= (500—160)+1000= 2040mL=( YL=( )dm’®
30X 15X 4= 3 —27= 0.002m’*= )dm® = )cem?
27--0.3—90= 3X2K4AX 2= 4003dm®* = ( )m®
36+—60X5= 28X 5= 2200ml=( )dm?
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